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31. Find out the conect sentence )
() Ali is the most wisest of all (b) He is more cleverer than his brother.
(c) Solomon was the wisest of all men (d) She is more taller than her
g .
32/ How many members in your family?
(a) are these (?r is there
(c)Arere is (d) are there
M ' to London by the train?
(a}) Did Mary went (b) Mary goes
_(c)Did Mary go (d) Mary went
Antonym of ‘Mighty’ is '
(a) Forcible (b) Forceful
- (c) Weak (d) Haughty
35. Synonyms of “Fostering” is ~
(2) Safeguarding (b) Negle.cting
(c) Nurturing (d) Ignoring
36. Which of the following sentence is the examplc of Infinitive?
(a)To waste money is harmful (b) I want to dance
) It is wrong tc find fault (d) Let him stand there
\/77. Find the correctly spelt word
(a) Affedevit (b) Affcda\{it
(c) Affidevit " (d) Affidavit
\ Wnding plural form. Choose the correct one.
(a) Washerman — Washerman (b) Sheep - Sheeps
(c) Passerby — Passer bys (d) Goose — Geese
“\Below are given verb forms of some objectives. Choose the incorrect one.
(a) Bitter - Embitter - (b) Full - Fill '
) New — Renew (d) Fresh — Freshness
. Fill up the correct preposition.
. A bee suddenly came ........... the room.
(a)in ' (b) to
(C) into 1T} (d) through
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